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QUESTION 1

Click the Exhibit button.

[edit routing—options]
userf@router# show | display inheritance no-comm=nts
staktiec 4
defaults {
preference 20;
}
route 0.0.0.0/0 {
next—hop 172_.18.1_.1;
preference 5;
}
route 192.168.1.2/32 next-hop 172.20.111.10;
route 1%2.168.2.0/30 next-hop [ 172.20.66.2 172.20.77.2 1;
route 172.20.112.0/24 next-hop [ 172.20.66.2 172.20.77.2 ]:;

Which two statements about the configuration shown in the exhibit are correct? (Choose two.)

A. Two next-hop interfaces should appear in the routing table for the 172.20.112.0/24 prefix.

B. Multiple equal-cost next hops are installed in the forwarding table for the 192.168.2.0/30 prefix.

C. The route preference is the same for each static route.

D. Only the selected next-hop interface should appear in the forwarding table for the 172.20.112.0/24 prefix.

Correct Answer:. AD

QUESTION 2

Which two statements are true regarding RIB groups? (Choose two.)

A. The first table listed is the primary route table and determines the address family of the RIB group.
B. The last table listed is the primary route table and determines the address family of the RIB group.
C. A RIB group must contain one or more export-rib statements.

D. A RIB group must contain one or more import-rib statements.

Correct Answer: AD
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QUESTION 3

Which two port security mechanisms rely on an accurate DHCP snooping database to operate correctly? (Choose two.)
A. IP source guard

B. persistent MAC learning

C. MACsec

D. dynamic ARP inspection

Correct Answer: AD

QUESTION 4

Which two statements concerning 1S-1S adjacencies are correct? (Choose two.)
A. For Level 1 adjacencies, the area IDs can be different.

B. For Level 2 adjacencies, the area IDs can be different.

C. Level 2 routers can form an adjacency with Level 1 routers.

D. Level 2 routers do not form adjacencies with Level 1 routers.

Correct Answer: BC

QUESTION 5

When electing a DIS in an 1S-IS network, what is used to break a priority tie?
A. highest router ID

B. highest MAC address

C. lowest MAC address

D. lowest router ID

Correct Answer: B

Explanation: https://www.juniper.net/documentation/en_US/junos/topics/concept/routing- protocol-is-is-security-
designated-router-understanding.html
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